FE

%51 AE
{EEH L= EENEEHY / B Eh E
T @12 | @16 | @20 | @25
ER e 2B
T /82 3 1.5MPa(15.3kgf/cm?)
BRSBTS 1.0MPa(10.2 kgf/cm?)
- ‘ LT 0.05MPa(0.51kgf/cm?)
=/ S
FENERED e 0.08MPa(0.82kgf/cm?)
FEREE 50 ~ 1500 mm/s
FERRE -10°C ~ 60°C(RRI4E KR BE)
EE BBER / EREE
#5H REZE (|ELEH)
BEFEE) 1B 4EE | 0.04J | 0.09J | 0.27J | 0.4J
BhAe Ze 427 | 0.19J | 0.4J | 0.66J | 0.97J
TEAE 4
N3
AE| (m| [ |20 x[100
%8 R @12 TG-C73
o W TG-H7A1
M s 15 N 316 10~200mm
cl ER | T [220 e
EiE 10~300mm
Al 225 L \ﬁl} ELERREES
T XEFRESE -
TR ClESS
P | F “
LESS KB E A2 45,01
Al G ~[8145.02-
e Rzl
S a;
YEIETE
il —

'3 04.01




S B/ IR& 5L (1S06432 & CETOP RP52P)
ISO CYLINDER

(9)

@12 @16 @20 @25
96 109 183(203) 258(286)
6.2 7.2 11.8 18.4
40 95
105 210
25 90
SDBRE 40 85
PEUIZTA 25 45 70
YEU$EER 20 50 100

() AREREGHE

EXETT
(mm)
BT
Pl O (0| 0| 0 | 0| 0| 0| 0| 0
o6 ICRIEEAEEEEEEIEEEEERERERE 300 150
ZW o (oo o[o[o[o[olo[olo] 200
2l O 90| O | 0| 0| 0 |0 | 0 0o o0 o

'3 04.02



VA

CFHIANTO

EE%ETHE
EHER AE(
0 1ZRBLEE T

XC+1712
KV WH G1 G2
SW BE % EE EE “ BE ¢0
ﬁ\\ ¥ & i TS /_ ] )
o] % ; , , M 's=718 -
| g N z| =
/N 8 d
2
s}
AM u _
F N1 N2
H S+{772 F
Z+1718 RR
77+ 1712
O EREER
XC+1T12
WA WA1
1GL ’g ZEE  __ WB
U” ! \7 SN
SR = N
AM N1 N2
S+1712
Z+17%2
77+ 1718
FARES @ClocD|@D| EE |[EW| F | G1 WA | WA1 | WB | H KV KW | N1
@12|16 | M16X1.5| 6 | 6 [19.8M5X0.8/ 12|17 6 | 6 | — | — | — |38 M6X1.0 |22| 6 115
@16 |16 | M16X1.5| 6 | 6 [19.8M5X0.8 12 |17 (565) (565) 9| 9 | 6638 M6X1.0 22| 6 [11.5

@20 20 | M22X15| 8 | 8 27.9) G1/8” |16 |20| 85 |8.5|13.2| 13.2 | 8 |44| M8X1.25 |32 | 10 |16.5

@25| 22 | M22X1.5| 10| 8 [33.4] G1/8” |16 22| 8 | 11 |12.5] 16 |10.2550 M10X1.25|32 | 10 |16.5

* () AREREHENRY

e
@12 115 |18 | 16 (14 |50 | 10 | 8 | 22 | 75 | 91 | 105

216 |11.5 |18 | 16 |13 |56 10 | 9 | 22 | 82 | 98 | 111
@20 16524 | 22 |17 | 68 | 14 |12| 24 | 95 |115 | 132
@25 | 20 |30 | 22 |15.5/69.5| 17 |12 | 28 | 104 | 126 |141.5

'3 04.03




IR & & (1SO6432 & CETOP RP52P)
ISO CYLINDER

& B L / %

RAEERY
O BIZREL(L)

LT

o
Q
P
@

UR

AV

LS+ 1712

XL+ 1718

AO

O AT FER(F)
BLZER(G)

WL+TH2

4T e MIZRAY BUZEN / BZ IR

@12 6 |43 |55 3|20 | 76 | 8 32|32 | 13 |325 19|28 |55 3 | 40 | 51 |19 75

16| 6 |43 | 55 3|20 | 82 | 91 |32 32|13 |325/ 19|28 |[55| 3 | 40 | 51 | 19| 81

©20/75|53| 66 3| 25 100 108 40|37 | 16 | 41 | 21 | 40 |66 5 | 50 | 66 | 19| 97

@25/75| 53| 66 | 3 | 25 |101.5/113.5/40 |41 | 16 | 41 |25 | 40 |6.6| 5 | 50 | 66 | 23 |102.5
*( AREREELNWRY

'3/ 04.04



VA

CHFHIANTO

tRER
© SDBREA

XC+1718 ) AE

d=

AR

212 6.1 121 5.5 5) 18.1 15 25 27 3 75
16 6.1 121 5.5 5 18.1 15 25 27 3 82
220 8.1 16.1 6.6 6 24 1 20 36 30 4 95
25 8.1 16.1 6.6 6 241 20 36 30 4 104

(OABREREBHENRS

'3 04.05



B/ K IR& 5L (1SO06432 & CETOP RP52P)

ISO CYLINDER

FE¥E AELIP
O BRBEEE

KV WH G1 EE EE G2
e

sSwW BE

)

AM F N1 N2

H S+712

WA WA1
G1 G3 EERE wB
|
! L
I % il ﬂ
I 1 |
N1 N3
S+1772

fI4</AM| BE |@C|@D| EE | F|G1[G2/ G3 |H |
12|16 | M16X1.5 | 6 |19.8/ M5X0.8 17| 6 | 6 | — |38| — | M6X1.0 | 22 | 6 | 115 | 11

16| 16 | M16X1.5| 6 |19.8/ M5X0.8|17| 6 | 6 | 6 (38| — M6X1.0 22 6 115 | 11.5
@20| 20 | M22X1.5 | 8 |27.9| G1/8” |20 85| 8 | 85 (44| 6 | M8X1.25 32 10 | 16.5 | 16.5
@25 |22 | M22X1.5 10 |33.4| G1/8” |22| 8 11| 8 |50| 6 | M10X1.25 | 32 10 | 165 | 20

417 |N3|NA|@NDh8| S [sSw| WH| Z |
@12 - |18 16 | 50 |10 22 |8 | - | - | -

@16 |11.5| 18 16 56 10| 22 | 94 | 9 9 | 6.6
@20 |16.5| 24 22 67 |68 13 | 24 | 112 |13.2/ 13.2| 8
@25 115.5| 30 22 169.5/65| 17 | 28 [119.5/12.5| 11.5|10.25

'3 04.06



VA

CHFIANTO

BERYE

RPR

O HZRAY

2-@AB

(L)

H11s
212 6 43 5.5 8 20 32 32 13 32.5 19
16 6 43 5.5 3 20 32 32 13 32.5 19
220 7.5 58 6.6 3 25 40 37 16 41 21
25 7.5 53 6.6 3 25 40 41 16 41 25
O BUREM(F)
It il I il . w
' =]
w FT
ORFR
- RIZREER
UR FB FT TF UF W
212 28 5.5 5 40 51 19
216 28 5.5 3 40 51 19
@20 40 6.6 5 50 66 19
25 40 6.6 5 50 66 23

'3 04.07



B/ K IR& 5L (1SO06432 & CETOP RP52P)

ISO CYLINDER

SERIE

EEFMEY AELW
OB rEE
EE G1 WH+ 1772
sw BE KK
KK
s T Eieei=cel
8
AM AM
N1 F
H S+{712 H+1F72
ZZ+2X1712
O ZERiEEE
WA WA
G1 G

N1 N1

S+1772

ZZ+2X1712

f1%/AM| BE |@C|/@D| EE |F| G1 |

12| 16 |M16X1.5| 6 [19.8/M5X0.8| 17| 6 - - | 38 M6X1.0 22 6 11.5

16 | 16 |M16X1.5| 6 |19.8/M5X0.8| 17 |6 (5.5) 9 6.6 | 38 M6X1.0 22 6 11.5
@20 | 20 |M22X1.5| 8 |27.9] G1/8” | 20| 8.5 13.2 8 | 44 | M8X1.25 | 32 11 16.5
@25 | 22 |M22X1.5| 10 |33.4| G1/8” | 22| 8 12.5 |10.25| 50 | M10X1.25 | 32 11 16.5

4145 | NA |@NDh8| S |sw |wH| zz
@12 18 | 16 | 50 | 10 |22 | 126
@16 18 | 16 | 56 | 10 | 22 [132(130)
@20 24 | 22 | 68 |13 |24 156
@25 30| 22 | 66 |17 |28 | 166
* ( INARZEEHLORT

'3 04.08




VA

CHFIANTO

BERYE

O BIZRAL(L)

LT

=

AV

Al

4-OAB

AO

UF

UR

FT

T PRI ZREY FIESSSYN
AO/USGAB| LT |NH | LS | XL | TR | XS |AV |UR | W |UR | FB | FT | TF | UF | W
12| 6 (43| 55| 3 | 20 | 76 | 8 | 32 | 32 | 13 |325| 19 | 28 | 55| 3 | 40 | 51 | 19
16| 6 |43 55| 3 | 20 | 82 | 91 | 32 | 32 | 13 |325| 19 | 28 | 55| 3 | 40 | 51 | 19
©20/75/53| 66 | 3 | 25 | 100 108 | 40 | 37 | 16 | 41 | 21 | 40 | 66 | 5 | 50 | 66 | 19
25|75/ 53| 6.6 | 3 | 25 |101.5/113.5] 40 | 41 | 16 | 41 | 26 | 40 | 66 | 5 | 50 | 66 | 23

*( VAREREEHENRY

'3 04.09




B/ K IR& 5L (1SO06432 & CETOP RP52P)

ISO CYLINDER

O YEUIRBA(Y)
1SO8140
DIN71752

B F
212 12 6 12 24 M6X1.0 6 12 12 31 10
216 12 6 12 24 M6X1.0 6 12 12 31 10
@20 16 8 16 32 M8X1.25 8 16 16 42 14
@25 20 10 20 40 M10X1.25 10 20 20 52 18
O PAEYEELE(P) cM
DIN648 C cD
DIN24335 M

£ )
@
Y

A

zzz77777777777

LE

CE

HiEX

V77777

g |A| M C G

@12 |14 MBX10 (30 |6 10|89 |18 |9 |16 |18 | 7 127 5 |39 |8.96 11
7 5
5 5

@16 | 14| MBX1.0 | 30 | B 10 | 9 18 | 9 16 | 13
@20 (17| M8X1.25 | 36 | 8 |125] 12 | 22 | 11 | 18 | 16
@25 21| M10X1.25| 43 |10 |15 |14 |26 | 13 |22 | 19 | 11 |19.1/ 6.5 | 86 |12.8] 17




